
Superior• ADA Landscape Ramp - Full - 120" x 43" • Model TFR0592XX 

Playgrounds 1050 Columbia Dr• Carrollton, GA 30117 • 800-327-8774 • sales@siibrands.com INSTALLATION GUIDELINE 

USER GROUP: 2-5 Years, 5-12 Years 
RECOMMENDED CREW: 1 Person 
TOOLS REQUIRED: 
• TT-45 Torx, 9/16" Hex 
• Level, Square 
• Drill Bits: None 
• High Speed 3/8" Electric Drill with Clutch 
NOTE: Use of any other driver may result in damage to 
tool and/or hardware! 
INSTALLATION TIME: 1 Hour 
WEIGHT: 90 lbs. 
CONCRETE REQUIRED: None 

PRE-INSTALLATION CHECK: 
Customer is responsible for verifying materials received by 
comparing received items with packing list. If any parts are 
missing or damaged, including documentation, contact 
your local sales representative immediately. 

Supplier is not responsible for items discovered missing 
after 72 hours from time of delivery. 

Before beginning installation, all installers must read and 
understand the Installation Introduction manual as 
supplied. If you did not receive a copy, or if you have any 
questions regarding any information in the Installation 
Instructions or this Installation Guideline, contact your local 
sales representative. 

ITEM Part No. 
1 BMP-0001XX 
2 LTH 
3 BMP-0002XX 
4 HWB0513 
5 HWWR0092 
6 HWN0098 

MODEL NUMBER: TFR0592XX 
DATE: 05/25/21 

Page 1 of4 

QTY DESCRIPTION 
2 ADA Half Ramp (Black) - 60" L x 43" W 
9 30" Timber Stake 
2 Border Cap (Black) 
2 Bolt - 3/8" x 4" TORX 
4 Washer 3/8" ID x 1-1/4" OD Flat SS 
2 Nylon Lock Nut - 3/8" SS 

i-----, 2 
Landscape Timbers 
Ordered Separately 

l~
NTERNAT I ONAL 

PLAY EQUIPMENT 
MANUFACTURERS 

MEMBER ASSOCI AT ION 



Superior• ADA Landscape Ramp - Full - 120" x 43" • Model TFR0592XX 

Playgrounds 1050 Columbia Dr• Carrollton, GA 30117 • 800-327-8774 • sales@siibrands.com 

STEP 1 
Connect ramps at bottoms. Butt ramps flush together. Ensure bottom surfaces 
are flush . Secure together with two (2) 3/8" x 4" security Torx, four (4) 3/8" x 1-1/4" 
flat washers, and two (2) 3/8" Nylon lock nuts. See Detail 1-1. 

Detail 1-1 

3/8" x 4" Security Torx 
Typ.2 

/8" Nylon Lock Nut 
yp.2 

3/8" x 1-1 /4" Flat Washer 
Typ.4 

Flush Together 

MODEL NUMBER: TFR0592XX 
DATE: 05/25/21 

Page 2 of4 

INSTALLATION GUIDELINE 

l~
NTERNAT I ONAL 

PLAY EQUIPMENT 
MANUFACTURERS 

MEMBER ASSOCI AT ION 



Superior• ADA Landscape Ramp - Full - 120" x 43" • Model TFR0592XX 

Playgrounds 1050 Columbia Dr• Carrollton, GA 30117 • 800-327-8774 • sales@siibrands.com 

STEP 2 
Position ramp based upon layout drawing. Ensure ends of ramps are in 
correct location . Ensure tabs on ramps align with positions of landscape 
timbers. Drive in seven (7) timber stakes. Ensure stakes are secure and 
flush against ramps. Do not over-drive stakes. 

MODEL NUMBER: TFR0592XX 
DATE: 05/25/21 

Timber Stake 
Typ. 7 

Page 3 of4 

INSTALLATION GUIDELINE 

Tabs Align with Landscape Timbers 
Typ. All 

l~
NTERNAT I ONAL 

PLAY EQUIPMENT 
MANUFACTURERS 

MEMBER ASSOCI AT ION 



Superior• ADA Landscape Ramp - Full - 120" x 43" • Model TFR0592XX 

Playgrounds 1050 Columbia Dr• Carrollton, GA 30117 • 800-327-8774 • sales@siibrands.com INSTALLATION GUIDELINE 

STEP 3 
Connect landscape timbers to sides of ramps. Place one (1) filler cap on each 
side of ramps. Align holes in filler caps with holes in ramps and holes in landscape 
timbers. Drive in two (2) timber stakes. Ensure stakes are secure and flush against 
surfaces. Do not over-drive stakes. Check all connections and ensure structure is 
stable. Installation is complete. 

MODEL NUMBER: TFR0592XX 
DATE: 05/25/21 

V FillerCap 

Page 4 of4 

Timber Stake 
Typ.2 

l~
NTERNATIONAL 

PLAY EQUIPMENT 
MANUFACTURERS 

MEMBER ASSOCIATION 


